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Problem Set 1.5 43
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| *:_EI 2

Use the formula P = 2] + 2w to find the length | of a rectangular lot if
1. The width w is 50 feet and the perimeter P is 300 feet.
2. The width w is 75 feet and the perimeter P is 300 feet.

Use the formula 2x + 3y = 6 to find y when
3. xis3 4, xis —2 5 xis0 6. xis —3

Use the formula 2x — 5y = 20 to find x when
7. yis2 8 yis —4 9, yis0 10. yis —6

Use the equation y = (x + 1)> — 3 to find the value of y when
M x=-2 12. x=—1 18. x=1 14, x=2

15. Use the formula y = ng to find y when

a x=10 b. x=5
16. Use the formula y = 2x* to find y when

a x=5 b x=—6
17. Use the formula y = Kx to find K when

a. y=15andx=3 b. y=72andx =4
18. Use the formula y = Kx? to find K when

a. y=32andx =4 b, y=45andx =3

Solve each of the following for the indicated variable.

19. A =lwforl 20. d = rtforr

21. V= lwhforh 22. PV = nRT for P

23. P=a-+b+cfora 24. P=g+b+cforb
25. x — 3y = —1forx 26. x+3y=2forx

27, —3x+y=6fory 28. 2x+y=—17fory
29, 2x + 3y =6fory 30. 4x + 5y =20 fory
M. y—3=-2x+4)fory 32. y+5=2x+2)fory
33.y-—3:~§—(x+3)fory 34.}/—-13—%(x+4)f0ry
35, P=2]+2wforw 36. P= 2]+ 2wfor!

37. h=vt+ 16t forv 38. h=vt— 16t2forv
39. A= nmr?+ 2nrhforh 40. A =2nr? + 2nrhfor h

41, Solve for y.

G.L1=‘§- b’f_q_zz.l.. G.L_—g=4
X 5 X 2 X
42. Solve for y.
o 213 p X2, .l g2 oy
x 5 % 2 X
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80.
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1.5 Problem Set

. 60% Nutrition Labels The nutrition label in Figure 2 is from a quart of vanilla ice
15.6% " . . i i
;E%‘ cream. The label in Figure 3 is from a pint of vanilla frozen yogurt. Use the
2% ¥ .
16.9% information on these labels for problems 79-82. Round your answers to the
nearest tenth of a percent.
Nutrition Facts Nutrition Facts
Serving Slze 1/2 cup (659) Serving Size 1/2 cup (38g)
Servings 8 Servings Per Container 4
Amount/Serving Amount Per Serving
Calorles 150 Calories from Fat 90 Calorles 160 Calories from Fat 25
% Dally Value® % Dally Value*
Total Fat 10g 16% Total Fat 2,59 4%
Saturated Fat 6g 32% Saturated Fat 1.5g T%
Cholesterol 35mg 12% Cholestercl 45mg 15%
Sodlum 30mg 1% Sodlum 55mg 2%
Total Carbohydrate 14g 5% Total Carbohydrate 269 9%
Dietary Fiber Og 0% Dietary Fiber 0g 0%
Sugars 11g Sugars 19g
Proteln 2g Proteln 8g
Vitamin A 6% Vitamin C 0% Vitamin A 0% Vitamin C 0%
Calclum 8% Iron 0% Calcium 25% . Iron 0%
* Percent Daily Values are based on a 2,000 caloria diat. * Parcent Dally Values ara based on a 2,000 caloria diet.

FIGURE 2 Vanilla ice cream

FIGURE 3 Vanilla frozen yogurt

79. What percent of the calories in one serving of the vanilla ice cream are fat
calories?

80. What percent of the calories in one serving of the frozen yogurt are fat
calories?

81. One serving of frozen yogurt is 98 grams, of which 26 grams are carbohy-
drates. What percent of one serving are carbohydrates?

82. One serving of vanilla ice cream is 65 grams. What percent of one serving is
sugar?
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